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1. e =1 T Tttt Hivn wfecd fad 2

(a) frchie (b) wH=dE () Yot (d) -FEg
(1) % (a), (o) S (d) (2) (), (b) S ()

(3) HH (a), (b) 3 () (4) “awd

Which of the following literature was written by King Harshavardhana ?

(a) Priyadarshika (b) Harshacharita (c) Ratnawali (d) Naganand
Answer options :

(1) Only (a), (c) and (d) (2)  Only (a), (b) and (c)

(3) Only (a), (b) and (d) (4)  All of the above

2. TN Feedesdl faaRr e ot Heifya seRit Ai= Ja Sirewn e
() He () Foce fem
(b) feeeit (i) T ATIA
(c) d9= (i) A foew
d) TEE (iv) TR TR

it I
(@ (®) (o (d)
(1) Gv) @) @ @
2 @ @) @ @
@ ) @ @ @)
@ @ @ (@) ()
Match the correct pairs of extension centers of Swadeshi Movement and their concerned persons.
(a) Mumbai (i) Chidambaram Pillai
(b) Delhi (i) Lala Lajpat Rai
(c) Punjab (i) Lokmanya Tilak = -
(d) Madras (iv) Syed Raza Haider -
Answer options : : 2
@ & © @
M @ @ @ 0
@ @) @) @ o
@) @) 0 G @)
@ @O @ @) (i
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3. Weiadsl St Tfehed hemEl SafEs T 25,000 WY feeht 2

(1) ST SHHL (2) THFD HESHHL
(3) Ml ST VIS (4) A TS ArSH
Who among the following gave a personal sum of ¥ 25,000 to the Elphinstone Fund ?

(1) Balshastri Jambhekar (2) Ramkrishna Bhandarkar

(3) Nana Jagannath Shankarseth ~ (4) Waman Aabaji Modak

4. EE A WA BV SEEE TIL FIOAM el 8 2
(1) =HmEdE @ fHefan () < Tegist
() w@-wEA fresfan 4) Ui @ et

Which of the following objectives was outlined in the Nehru Report ?

(I) Achieving Dominion Status (2) Creation of Two Nations
(3) Achieving Home Rule (4) To gain complete Independence
5. dWgE @ ERIUATET eI B,
) @ @ v @ v
Simuka was the founder of the dynasty.
(1) Satavahana (2) Sunga (3) Kanva . (4) Saka
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6. HISK FHYH= RIEReieR snufid 1968 =1 TS Sieiforr SRome T&d T HI0w! el 2
(a) AT 14 TuGE FeKire 9 Hihd 8.
(b) ToeeRiESt o= W 9 GYRIG 9a1. .
©) r@ammﬂmmﬁw%ﬁmm
'qaftﬁa;ﬁ(: v
(1) e (a) ST (b)
(3) T (a) SO ()

What were the main principles of the National Education Policy of 1968 based on the
recommendations of the Kothari Commission ?

(a) Compulsory and free education till the age of 14 years.

(b) Higher position and improved pay for teachers.

(c) At least 10% of gross national income spent on education.
Answer options :

(1) Only () and (b) @)

' Only (b) and (¢
() Only () and (9 @

All of the above

(1) TfafeEg a@
(3) A TSI
Who among the following founded the “Tilak School of Politics” ?

(1) Bipinchandra Pal (2) Shripad Amrut Dange
(3) Lala Lajpatrai (4) Arvind Ghosh

8.  uforT FERY ST umwﬁaﬂawmmaﬂaﬂaﬁ#ﬁwéﬁw?
(1) FHARE FEqEE

(3) &S e

Who was the prominent participant in t_ljé_§atyagraha at Dharasana in the Civil Disobedience
Movement ? -

(1) Kamaladevi Chatopadhyaya (2

Ambika Chakrawarti

(3) Kasturba Gandhi (4)-. Sarojini Naidu
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1857 =41 3STEME &P AT T HIMHS B 2

(1) e 2N (2) STEHESTEn

() TAERS (4) HieEt sTETEsT
Who was the leader in the uprising of 1857 in Kanpur ?

(1) Tatya Tope (2) Azimulla

(3) Nanasaheb (4) Maulavi Ahmedulla

10.

memmmmmwmmmmv
(1) Tz sufor s (2) Tz enfor @
(3) figr anfr ST (4) @ Afr S

Which of the following taxes was collected from Hindu and Muslim landlords respectively during
the Sultanate rule ?

(1) Jizya and Shar (2) Jizya and Khams

(3) Khiraj and Zakat : (4) Khams and Zakat

o

WA HIVC I HAGS STegel T 91 BRI Farwe fasaaen 92 feeh ?
1) &R 2) FERIE () THAI (4) TEEI

Abdul Razzaq, a Persian traveller visited Vijayanagar during the period of which of the following
rulers ?

(1) Harihar (2) Krishnadevrai (3) Devrail (4) Devraill

Heed] BIETATO! ST / SPACE FOR ROUGH WORK
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12. A Sire e ¢
(a) SAsgd HHS
(b) & RH 5
(c) USTIA SATEH el -
(d) et 1 FRS -
it S
(1) % (o) (2) (a) =0T (d) (3) (b) Ao (d) 4) (o) @O (d)

Identify the wrong pairs.

== E —

(a) Abdul Samad - Famous pam;;er
(b) Takhte Taus - Peacock throne
(c) Prince Azam Shah - Bahamani ruler
(d) Bibi ka Makbara - Memorial of Dilras Bano

Answer options :

(1) Only (c) (@ (a)and (d) 8)

byand (d)  (4) (c)and (d)

13. mwwmwwwaﬁ@mmmm e ?

(a) AT (b) wgHs

() ToreTre (d) wmwmm
T I

(1) (a) AfoT (d) SRR A1 (2) T (a) SRR TR

(3) (b, (c) 3T (d) SRR SR (4) R (d) TR A

Noted Warali painter Jivya Soma Mhase was honored with which of the following awards ?
(a) Padma Bhushan (b) Padma shri

(c) Shilpguru (d) -National award for tribal arts

Answer options : _ 3
(1) (a) and (d) are correct ~Only (a) is correct
(3) (b), (d) and (d) are correct (4) “Only (d) is correct
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14. STEHSERHET RO SHATRI=A e HeleHT M A= Hed STHeied] Y@ Afeel Hehr) i ?

1) s Ty (2) SATHA TWAWE

(3) HEEN it (4) TEUN FEE

Who was the main female collaborator with Mahatma Gandhi in the struggle of mill workers in
Ahmedabad ?

(1) Sarojini Naidu (2) Anusaya Sarabhai
(3) Kasturba Gandhi (4) Aruna Asaf Ali

15. 3.9 1907 94 ¥RAE TNIT HOH9s) $2 Teedqmd, ‘G 39 T SHY Sioawsd, 8 e faem
AR', 39 faum it FA?2

(1) e FEa (2) < feaw
(3) S =it 4) e =

After the split in the Indian National Congress in 1907, who made the statement ‘National Congress
Collapsed at Surat, this is our victory” ?

(1) Lord Curzon (2) Lokmanya Tilak
(3) Lord Morley (4) Lord Minto

16. <sqX fSerma @ttt o fawmit Tt Siear s ?

(a) lieT (b) ™rTE (c) e (d) =t
gt 39 ;
1) (), (b) 3T () (2) W (a) (3) e (b) (4)  (b), (c) T (d)

Coal is found at which of the following place in Chandrapur district ?

(a) Bandar (b) Ghoggus (c) Telwasa (d) Wani

Answer options :

(1) (@) (b)and () (2) only (a) (3) only (b) 4) (), (c) and (d)
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17. fogwee gaRd=t SretayHT SRRt o

(a) NI YN, ol ey, mmu&mﬁ&mﬁmawﬁmﬂauﬁiﬁ%ﬂéﬁ@ﬁaﬁwﬁ
e,

(b) mw@n@wﬁmﬁmmﬁmﬁ
d) ﬂﬁwaﬂagﬁmaﬁwmwamﬁmﬁ

St Ho faum/ faym ste] an%*/a ?
1) @®F| @) (a) 3 (b) e
®3) (a), (b) 3 (c) (4) =l wd

Dispersed settlement have the following characteristics :

(a) Dispersed settlement is found in hilly areas, grasslands, dense forests due to physical and
environmental unfavourable conditions.

(b)  The structure of the houses in this settlement is isolated.

(c) Due to rivers, mountain ranges, roads railway lines etc. the clusters of houses are far away
from each other. :

(d) These settlements are found i m piams and fertile soil areas in India.
Which of the statement given abov —’vxs/ are correct ?

(1) (a) only ", @ @and@)only

(3) (a), (b) and (c) . (4) All of the above e

18.

m
efTeTsht v faur Sehe 3R ?

(1) 3R FHEW AIEIT STHHE 3R,

(2) YRATE 9 RS FRRUEIRH 12 Afdes Ha o7,

(3) ST SYENRIG SiEHM § FhaR 92 o1

(4) WWHW@W a—mﬁa“rﬁvﬁhm 3.
Which of the following statements is. mcorrect ?

(1) The Lakshadweep island grg 'ils in the Arablan Sea.

(2) India’s maritime boundary is- 2 nautical miles from the coast.

(3) Andman and Nicobar Island;;g';i_'é located in the Bay of Bengal.
(4) India has a natural land border with Pakistan and Bangladesh.
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19.  WIEEIE B TS T U T 2
(1) UM TSHA 4 STH SHRY HUT Wefed Heiet ST,
(2) TS HAGH AHRE ST FH STHA.
(3) ESHN YHEAH SHAERY SEes.
(4) TSH 93 THAM, TS W= S Tae el
Which of the following is not a characteristic of sedimentary rock ?

(1) Particles of many sizes are organized in a single rocks layer.
(2) The rocks are huge and hard.
(3) Fossils are mainly found in rocks.

(4) Rocks are soft, so they wear out quickly.

20. HRATdE SFTOHT 99 9 JReR il ARG e o

L
(a) 1981
(b) 1991
(c) 2001
(d) 2011
T I

(@ (®) (9
O O @ @
2 @@ @ @)
@) @ (@) ()
(4) (wv) (i) (i)

Tt (<X & )
{)5= 15
e 1 (e
(iii) 08
(iv) 07

(d)
(iv)
(1)
(i)
@

Match the correct pairs of census year and death rate in India :

Year
(a) 1981
(b) 1991
(c) 2001
(d) 2011
Answer options :
@@ (b) (o)
O O @ @
2 @ @O @)
@) @ @) @)
4) (v) () (i)

Death rate (Per 1000)

@ 15

@) 11
(iii) 08
@v) 07

@
(iv)
(i)
(i
0
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21. WEde! o AR St STehdres ATe 2
(1) FET= TerERE (2 FdrFd
(3) foeneia (4) Y
Which of the following is not the pattern of Urban settlement ?
(1) Checker - board (2) Circular
(3) Dispersed (4) Linear
22, S ST e
4
() wrd
(b) TSR
(0 WWET
(d) erefern (iv) W SRR
qaier S
@ (b (o (9
o O @ @) @)
2 Gv) @) @@ @
3 O @ @ @)
(4) @) @ @) (@)
Match the correct pairs : {5
Country National Park
(a) India (i)  Jim Corbett
(b) Ecuador (i) Grand Canyon
{€). - U.5:A. (iii) Galapagos
(d) Australia (iv) Great barrier reef
Answer options :
@ () () (d)
1 @O @ (@) (@v)
(2) () () (@@ @
@ @ @ G )
@ @ 6 @ @
P.T.O.
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23. @il feeiedn wafarde Sga RIS Faid s el il 3118 ?

(1)
®)

Tt (2) HrdfaE
% (4) ®sTA

Which is the longest river in the United States from the options below ?

(1)
(3)

The Mississippi (2) The Columbia
The Snake (4) The Hudson

24. AU HIOT FIHM HERISET=AT el 2011 =41 SHVHTER SRaR 3734 ?

(@)
(b)
(©)
(d)

a1 9fa =1 T, 365 TR,
HI&RAT 82.91% 3R,

TeAT TUIRR 925 3T,

i 39N

(1)
)

WK (a), (b) 3T (c) (2) W (b), (c) MU (d)
e (a), (c) ST (d) (4) ad« gd

In relation to Maharashtra which statements are true as per 2011 census ?

(@)
(b)
(©)
(d)

In population Maharashtra rank 2" in Country
Density is 365 per sq. km
Literacy is 82.91%

Sex ratio is 925

Answer options :

(1)
€)

Only (a), (b) and (c) (2)  Only (b), (c) and (d)
Only (a), (c) and (d) (4) All the above

ol BT W / SPACE FOR ROUGH WORK
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25. it R fiy TR T 2
(1) o (@) fome @) 2 @
Which of the following is not the tributary of r1ve;S1ndhu ?
(1) Chinab (2) Biyas @4 Son (4) Ravi
26. TAE W@ AT IS Wiefierdeht ot foeena fea ome ?
(1)7 feeg (2) HER (3 dfts (4) TS
In which district is the Hetwane major irrigation scheme located ?
(1) Sindhudurg  (2) Satara (3) Beed (4) Raigad
27. BRI IV AT STAqoTe! H@esdrd ? 7
(a) TETHR (b) IR (©) e (d) STeeR
T I
1) (@) @) o @ () (@M Q)
®) (@) © @ @) e
Which type of drainage pattern is found in Maharashtra ?
(4) Dendritic (b) Parallel © Indeflmte (d) Trellis
Answer options :
1) @ Gand@ ® ®Ond @
3) (a), (c) and (d) (4)  All of the above
Feeg] HETHIS! ST / SPACE FOR ROUGH WORK P.T.0.
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28. YEICl IV ST IR WRHN e ST FuEiao) gaeel S 2
(a) I HoeE waem
(b) UEHE HeueH fowE Hew
(c) HEEN sigt=n fawm
(d) Hi¥ aERYS
TFiE I

1) (@) (b) (2) (@ (b), (@ @ @ ®)@© @4 © @

Through which of the following factors the fisheries development program is implemented

effectively ?

(@) The Fishery Survey of India.

(b) National fisheries development board.
(c) Development of fishing harbours.

(d) Meat Marketing.

Answer options :

1 @, @) 2 (@ (®) (@ 3 @ ®)© 4 © @

29. Wefleris! wEe SeXfeies A SR Tl 2
(a) HEA ANEE
(b) MGIS] ENEIGE RN C e )
(c) i ool e
(d) T THRY FA SR
T S
(1) T (a) (2) (b =for (@) (3) T (o) 4) (), (o) 3 (d)
Which of the following is not a characteristic of intensive subsistence agriculture ?
(a) Intensive cultivation
(b) Animal husbandry is a complementary business to agriculture
(c) The vast size of the farm
(d) Maximum yield production per hectare.
Answer options :

(1) Only (a) (2) (b) and (d) () Only (9 ) (®), (¢) and (d)

el BIFRITSI SN / SPACE FOR ROUGH WORK



w18 15 B
30. el faumen foar e dra gaa et
faam™ (a) : ¥F 2011 =0 A9 SEUHTER, Wﬁaﬁm@%ﬁmmwaﬂéwﬁ@ﬁr
e (b) : T 2011 =01 SAfqH SRR, m@m@wmﬁaﬁmﬁmﬂmm
Tliertent v fayH/faum SRie] 37Rd ?
(1) faum (a) TR 9 (b) faum ==
2) faume (b) SR 9 (a) fau™ %
() = faum I%
(4) 2 foum aleX
Choose the correct option considering the following statements :

Statement (a) : According to the final census of 2011, Mumbai sub-urban district had the highest
population density in Maharashtra.

Statement (b) : According to the final census of 2011, Kolhapur district is the fifth most densely
populated district in Mah

Which of the statements given above is/are

orrect ?
(1) Statement (a) is correct and Statement (b) is false
(2) Statement (b) is correct and Statement*(a) is false

(3) Both Statements are wrong

(4) Both Statements are correct

31. PAN (Feiierierd THee) Trie Ter R qitomd 7R g,
(1) TEgNA RS S Hom SHAlES
(2) e HHRTeES Snfor sifter Hfew W
(3) IS SRS M TS L
(4) STr=AA a7fr %o

PAN (Peroxyacetyl nitrate) is formed as a result of following interaction :

(1) Nitrogen oxide and sulfer dioxide ...
(2) Carbon monoxide and volatile orgar_lié_épmpounds
(3) Nitrogen Oxide and hydrocarbons 3

(4) Ozone and particulate matter

Feed] BHTATS! ST / SPACE FOR ROUGH WORK PT.O.
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32. SIFTide 9T99H SE=A HeHid @it faumEr iR =51

(a) TigeEr=AT ARTSERISR SEFSET (Anaerobic) A= S 2R,

(b) e TS SHIRE WA AR A T R Y T e S 2,

et FR R/ ST A ?

(1) K (a) (2) T (b) (3 @3FI@®) TR (4) () (b) A T
Consider the following statements regarding global warming :

(@) Anaerobic Methane is emitted with rice cultivation.

(b) When nitrogen - based fertilizers are used, nitrous oxide is released into the soil.

Which of the above statement/statements is/are correct ?

(1) Only (a) (2) Only (b) (3) Both (a) and (b) (4) Neither (a) nor (b)

33. TaMMeEe g Fafite St Taq gfwa SR, A1 seasen Hiomn YA e guelE 29 2
(1) = Hada Femy 9o o
(2) fTea<=n Wt enfor arEmw
(3) Teww<l qameiaed Mes Al
(4) =i wd

Which geological evidence supports the notion that climate chanee is a natural and continuous
8? gl PP g
process ? .

(1) Tree rings in high altitudes
(2) Glacial advances and retreats
(3) Sediment deposits in glacial lakes

(4) Al of the above

HTeg] HTHNTS! ST / SPACE FOR ROUGH WORK
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34. Wit faumien faem S i

(a) ﬁnamwmﬁwam@mmmﬁrﬁwmﬁaﬁﬁwm

(b) WWEBHWQTWWWWWWWW

et Fo Faey e wi oA

(1) K (a) (2) T (b)

(3) (a) 3T (b) TR (4) (a) MO (b) SR A

Consider the following statements.

(a) High latitudes generally have greater biodiversity than low latitudes.

(b) Biodiversity is generally greater at lower altitude than at higher altitude on mountain slopes.

Which of the above statement/statements:is/are correct ?

(1) Only (a) (2)- -Only (b
(3) Both (a) and (b) (4)-Neither (a) nor (b)

35. YRG THRA gl e Hedis, kL 3??:‘:[37 el YA System of Air quality, Weather
forecasting and Research (SAFAR) = TTUAT GIGerieh! S0l =R WeHE el e 2

(1) feced, g0, srenemEwR, Yo AT\
(2) ool ==, Hag, e

() Teceh, g8, @R, 96

Government of India has established sysﬁeﬁi; of Air quality, Weather forecasting and Research
(SAFAR) in which of the following four c1t1es for research on air quality assessment, weather
forecasting ? a

{41 Delli Dinne, Abredldbad, Mizmbez * 2
(2) Delhi, Chennai, Mumbai, Kolkata -
(3) Delhi, Mumbai, Hyderabad, Chennai
(4) Delhi, Mumbai, Bangalore, Chennai

e BIATHTSI WIRN / SPACE FOR ROUGH WORK P.T.O.
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36. RGN ST fefm o= SHfam Geia seSariqaR qei=n See o Teaeiwiomae: ‘9et a=sl, 3
eI’ AT Shee1 FeaT H0AT 3T 2

(1) 22 SMaRT 2016 (2) 22 STMHERI 2018 (3) 22 SHARI 2015 (4) 25 WHaERY 2015

When was the ‘Beti Bachao, Beti Padhao’ campaign launched for the protection and empowerment
of the girl child as per the last revised statistics of child sex Ratio in India ?

(1) 22 January 2016 (2) 22 January 2018 (3) 22 January 2015 (4) 25 January 2015

37. TR fusa Jien 7a onifeie foemmam Sl Yt Jeiergay S,
(a) HioaRes qiom frery e fomanes aftomm garet o,
(b) ﬁwwmﬂlwmvﬁmmqwm.
(c) fere 9ftomg snfor fowares aftomy wuret .
(d) forames aftomm snfor wiqeres aftom fegy s,
i S
(1) 93 (a) (2) (a) AT (c) (3) (b) M () (4) (o) enfor (d)
According to Gunnar Mirdal the role of Govt. in economic development should be as follows :
(a) Effecting the spread effect by neutralizing backward effect.
(b) Neutralizing spread effect by effecting the backward effect,
(c) Effecting spread effect and backward effect. |

(d) Neutralizing spread effect and backward effect.

Answer options :

(1) Only (a) (2) (a)and (o) (3) (b) and (c) (4) () and (d)

Heel] BHETETS! ST / SPACE FOR ROUGH WORK
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ferfi=g o= 7o ke B 9T &

(a) Toefaa o @HURA Tt 93 3% m

(b) Ifohfaa M@ I AUl Sl 3T Wehd.

() fosrfaa Suma Sae Ufa JaavEhicn I 3% T

() Toefem 3o wEiRE JAavEen Fredd F.

T I

(1) @emp) (2 w9 (@d) (3) I (a) 4)
According to Higins Population growth can be

(a) A motivator for autonomous investment in developed countries.

(b) A motivator for induced investment in under-developed countries.
(c) A motivator for only induced investment in developed countries.

(d) Demotivate for autonomous investment in a developed countries.

Answer options :

(1) (a) and (b) (2) only (d) (3) only (a) 4) (b)and (¢)
39. U1 HHNG a1 foaiommed sicfas THA AY S AKISES STHT THT ST,
(1) HHF (2) ferowen (3) whHRal (4) foagem
In a Society where the income distribution is excessive the handful individual there
has unlimited money.
(1) Equality (2) Asymmetry (3) Deficiency (4) Abundance
40. U=l Y s (Poverty Gap Index)ﬂmmﬁﬁmmmm, S TRa T

HifeA (e 2t Hifie ?

(1) TET R FOIERRE el hedsEl g€ W& Heel and ?

(2) TET R TSN Sl STRT € Y& HeE and 2

(3) <fET g FoIrRiar fhdt SR S fohedl 1@ huet anid ?

(4) aTIHT FTERT AL

Gaurav Dutt and Martin Ravalin sa1d that Poverty Gap Index is calculated for which of the following
reasons ?

(1) How much calories deficit needs to be made up to eliminate poverty ?

(2) How much income would be needed to cover the deficit to eliminate poverty ?
(3) How much increase in per capita income will be required to eliminate poverty ?
(4) None of these

el BIETITS! W / SPACE FOR ROUGH WORK P.T.O.
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41. sfedm fHEeE =e ;

(a) 20 25 IETHERST ST .

(b) ST @& 15, 20 foha 25 Fute HeEHEE S StE.

(c) 151 20 Iui=a1 HYUl FHITaETES Tk e,

(d) =g Sfege enfor waa & fohan S aufa Tre o,

i 3 ;

(1) 9 (b) (2) 9% (a) (3) (a) WM () 4) (o) o (d)
Perspective Planning refers

(a) Long run planning for 20 to 25 years.

(b) Long range targets are set in-advance for a period of 15, 20 or 25 years.

(©)  One plan for entire period of 15 to 20 years.

(d) Broader Objectives and targets are achieved within one or two years.

Answer options :

(1) only (b) (2) only () (3) (a)and (o) 4) (9 and (d)

42, AUYTH T FAUE! YT HIOW WG S 79 IehT HI07 Hedl 3718 2

(1) el = aeuw (2) = 9 =l ARy

(3) TR F T (4) <eRem 3 W

Who has criticized that economics is a Kuber worshiping science ?

(1) Ricardo and Malthus (2) Keneys and Karl Marks

(3) Karlail and Raskin (4) Chamberlein and Robinsons

H] HTHTATS!I ST / SPACE FOR ROUGH WORK
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21
T IRET [Ed HEheR Saaed ST
(a) ST IR SRS AR TR 3.
(b) T TR MFTEUATHIS! Scq—Tet TRt 3.
() mwmmwmwmaﬁﬁmﬁ?ﬁ
(d) ST TR e 7 TR SRR =TS e 2.
(1) %9 () (2) (a) S (b) (3) %a®(d) 4) (a) ST (d)
Relative poverty depends on following factors :

(a) The human body needs calories every day.

(b) Income is necessary to meet basic needs. (5!

(c) Comparing two income groups, the lower income group comes in poverty. \\\

(d) Poverty is the condition of not being able to meet the basic needs.

Answer options :

(1) only (¢) (2) (@and(b). (3) only(d) (49) (a)and (d)
44. FHH=R ufasftaie et sEe . Y HTOI ST
(1) 1950 (2) 1952 (3) 1960 4) 1981

The Employees Provident Fund Act was made in

(1) 1950 2) 1952 3) 1960 4) 1981

45.

WWWW@WW&M@%WMW%7

(1) 457 5.0% (2 35950%= (3) 4.0750% (4) 457 55%

What percentage of the rate of price increase was required to be kept as per the objectives of the

12th Five Year Plan ?

(1) 45 to 5.0% 2) 35 to 5.0% (3) 40t050%  (4) 45t055%

Treeg] HHETHISI ST / SPACE FOR ROUGH WORK
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46. HIqeA1 YEEl(t FSid Hellide arel o e e,
(1) it enfor HRwEE &=
(2) St snfor HevEeT &
(3) Sl &
(4) TR MU WevER &
The largest share of allocation in the Seventh Five Year Plan went to the :
(1) Agriculture and Communication Sector
(2) Industrial and Communication Sector
(3) Energy Sector
(4) Transport and Communication Sector

47. 9RAE FEEE S FOAEET T 1995 HE . STe] gOF i TeAeka@edt et
TYI9 HT0ATd STl
(1) Teeo 2) F . (3) IS M 4) <Y sEm
To study the problems of India in the year 1995 committee was formed under the
chairmanship of Dr. Abid Hussain.
(1) Education (2) Agriculture (3) Large Industry (4) Small Industry

48. o= faume JSHAETar 4T 81 SR
(a) Toreromes fomi=n wmr=n d¢t guram.
(b) Toafia femi wa:=n gent feid =@ areq.
(c) Treror sqifor wemar ferian meifivsiawd sy Teuem sHeq.
(d) Tori= sfede feadt gura.
At I
(1) () ST (b) (2) F93 () (3)  (b) ST (d) (4) (c) 3o (d)
Education for women reduses fertility due to
(a) Education improves work opportunity for women.
(b) Educated women want their own children to be educated.
(c) Education and literacy make women more receptive to information about contraception

(d) Improving economic condition of women.
Answer options :

(1) (a) and (b) (2) Only (c) (3) (b)and (d) 4) (9) and (d)

Heel] PRSI WIRT / SPACE FOR ROUGH WORK
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49. TR HY WIelid STeri=n THEs B ¢
(a) T A T SreT Swer AL
(b) mmmawmmwéﬁf
() wﬁm&qu&auﬁﬁq@mmﬁamm
(d) FEH ST, S, U UaTd, WIS, Fes, HiF, WY 3. TAT AR Sqersd gl
T S
(1) %92 (d) (2) (a) =nfor (b) @) (@), ®) () 4) (), O) (© = (d)

Food security includes following stages :
:
; (a) Adequate availability of food grains to all.
| (b) Adequate availability of food grains aﬁ&?ﬁﬁlses to all.

(c) Adequate availability of food grains, pu es, milk and vegetables to all.

(d) Adequate availability of food grains, pul'sés, milk products, vegetables, fruits, meat and fish
etc.

Answer options : P i

(1) Only (d) (2) (a) and (b) () (a), (b)and (c) (4) (a) (b), (c) and (d)
50. Sere fAffdimed yatetomen @ 7 foemmamen se e oo s,
(1) #Fst (2) wiEpfas (3) TSHE (4) wmEIRSTS

development is prioritized over environment degradation in energy generation.

(1) Human (2) Cultural

35 Political (4) Social

51. @ieidiel TAHHER (300 %) SEIER Scarsid v mmwmmmm7
(1) 5007 #X  (2) 9550 T HieX - ) 1500 1 HeX  (4) 3000 A1 HieX

At room temperature (300k), what is the significant contribution wavelength for the thermal
radiation emitted by a body ?

(1) 500 nm (2) 9550 nm (3) 1500 nm (4) 3000 nm

el HIHTATS! W / SPACE FOR ROUGH WORK P.T.O.
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52. @Té\ﬁﬁmﬁwﬁmﬁm.
()  STETST=A FHREET HISAHTE TS 319
(Il) STETST=AT IRARTH &3 € THheh 3R,
(IT) ST dieran RISvaTEe! Sfaee € U .
it 39

(1) (1), (1), (III) SR . (2) R (I), (II) SReT A
(3) hE (II) SIS 3. (4) (1), (I1), (II) FeTe ST J

Say whether following sentences are true or false :
‘()  For propagation of sound medium is necessary.

(I)  Unit of frequency of sound is Hertz.

(IT) Loudness of sound is expressed in decibel unit.

Answer options :

(1) (1), (II), (I1I) are true (2) Only (I), (II) is true
(3) Only (II) is true (4) (I, (II), (III) are false

53. WICICIOhI IV ST et 311 7

() SATHEH & WM 9 Y2 Tl T

(II) TR H9R STHl.

(1) SeTaRaR SRUTHR STHI.

(IV) =g2HeR 999R ST

TgtEt I

O I @ @ (@) ()
Which of the following sentence is wrong ?

()  Atomic nucleus is made up of protons and neutrons.
(I) Proton has a positive charge.

(IT) Electron has a negative charge.

(IV) Neutron has a positive charge.

Answer options :
(1) (III) and (II) (2) (@) and (I) (3) Only (D)

4) HH (V)

(4) Only (IV)

el HITETS! W / SPACE FOR ROUGH WORK
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54. WEACH! HIS SHIGT FHHTOET STHT e ?
(1) ufeRe 99
(3)  VETRrE Tt
Which one of the following is not a_é—é?plication of Bernoulli equation ?
(1) Aspirator pump (2) Ventury pump
(3) Speed of Efflux (4) None of the above

55. o theheledl SHUMHT Tt [T ST W = @R fehdl 3T8d ?

(1) £

(2) erd

(3) TEETHYN Tag ©0

4 T

A particle thrown up has zero veloi;it;ébut how much will be the acceleration ?
(1) Zero

(2) Infinity

(3) Equal to acceleration due to gravity

T\ ~
(4) One \Zo—23R
S [

56. WWWWW%W&WW?
(1) e worst @) s
(3) &-fortor Fas (4) 3TEEd aUTaE!

Which of the following wavelengths

used to study the crystal structure of material ?
(1) Ultraviolet wavelength (2) Gamma Rays wavelength
(3) X-Rays wavelength (4) Infrared wavelength

Pl BHTATS! SR / SPACE FOR ROUGH WORK
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57. IV TIUTTIel SFEad i1 TTeTdg SWoer o1 e = 2

(1) SEwES () ReEmwEe (3)  STgitSt (4) STESTS

Which division of Plantae is called amphibians of plant kingdom ?

(1) Bryophyta (2) Pteridophyta (3) Gymnosperm (4) Angiosperm

58. '‘SITT"’ WTETA SN Weliel IR faumitE 9 faum deie sea, Syedis fumE fee w59 |
(a) m"ﬁmwm“wmwwﬁw%mmmamﬁaﬁ

(b) ‘‘SiwAe’ = WETm A e gaAenaEe’ wmwﬁmﬁwmmwamﬁaﬁ |
T STeEIed TR |

(c) 1S WEeod THHHIR ST qefi X M1ed bt S Heelt wiarefi Sred & WeeiE = e
Sreeiedt 3T

(d) = I WG THEAHE [ T AHS A Hew qEe 9 GrRE 99 \Ee Seee
TR

e I

(1) R (a) T (b) HIRAF 7. (2) R (b) 7 (d) WY M.
(3) T (a) T () HIHIF TR (4) H () F (d) HIHF TR,

With respect to structure of DNA, following four statements are made. Choose the two relevant
statements.

(a) DNA is made of two long chains of nucleotides coiled in a helix around a central axis.

(b) DNA is made of two long chains of nucleoside coiled around a central axis.

(c) The two chains are complimentary to each other so that Adenine is always paired with
Thymine and cytosine with Guanine.

(d) The two chains are not complimentary to each other where Adenine is paired with uracil
and cytosine with Guanine.

Answer options :
(1) Only (a) and (b) is relevant. (2) Only (b) and (d) is relevant.
(3) Only (a) and (c) is relevant. (4) Only (c) and (d) is relevant.

Pl BHITS! VT / SPACE FOR ROUGH WORK
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YA @ v e et g e F e v o 2

iy

(@) T e b e A R o

() T 4t e G 90 T R A
(d) msﬁmﬁmam@mm 3o e e SEHTE TWER HaTg STl
At I
1) @aME @ @ OV @) () (3@ @) T
Which of the following statements are c&rrecfna‘?out the cell theory of Schleiden and Schwann ?
(a) All living things are composed of one or_j_J'Eore cells.
(b) New cells are formed from the pre-exisi g cells.
(c) There are basic similarities in chemicallttib_':ijif-iposition and metabolic functions of cells.
. (d) The activity of an organism is collectivé:é%i\dties and interactions of its cellular structures.
Answer options :
(1) (a) and (b) (2) (a),(b)and () (3) (a), (c)and (d) (4) Allof the above
60. T =eEe 3TH e B AT WeleTish! v SR HHHes TEId gl ?
() g Fd @ szt e
@) ol ger @) Eersi e
Leaf Blight of wheat is caused by infection ofwhlch of the following fungus ?
(1) Uromyces tritici (2) Altern_aﬁa triticina
(3) Ustilago nuda (4) Helminthosporium sativum
Peed] BTl ST / SPACE FOR ROUGH WORK P.T.0.
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61. WICACTIeh! HIo FTT TeHT e 31ae 2

(1) e, e, feidm, safrifteg

(2) EERERE, Ry, Feey, SHem

(3) cheirzy, fuftew, saforifry, feoidhma

(4) e, Ty, fevibrrm, ofmm

Which of the following animals belong to same class ?

(1) Torpedo, Pristis, Hippocampus, Ichthyophis

(2) Ichthyophis, Hippocampus, Calotes, Anabas

(3) Calotes, Pristis, Ichthyophis, Hippocampus

(4) Torpedo, Pristis, Hippocampus, Anabas

62. 'TUE’ T STHE YR TR FIUATEIST BV T o7/ ST AT STl 2
(1) TEEHEEAS (2) H=™ A (3) TEHEEE (4) =
Which plants extract/latex is used to prepare a narcotics called Heroin ?

(1) Poppy plant (2) Coca plant (3) Hemp plant (4) Bajra

63. WA HIUK faUH & 2R ? 1
(a) WS TRRMEA THI 208 TS STHAM.

(b) TRk Y eI BT § A TS SaR SR
Tt S

(1) () ST (b) (2) % (b) (3) T (a) (4) < T T

Which of the following statements is true ?

(a) The adult human skeleton consists of 208 bones.
(b)  Vertebrae and facial bones are irregular type of bones.

Answer options :

(1) (a) & (b) (2) Only (b) (3) (a) only (4) Neither of the two

e HITATS! W / SPACE FOR ROUGH WORK
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64. =TT I G A TS o WYl FieAdiel QMR Ui e SHAUATEIE! Wieie siredl el :

A& ®. - 1 qret & - 2
(a) TieT AT (i) %Faaﬁ—ﬁﬁ'g,ar
(b) R @ T AL
@ ww @) fe
@ fesh-sremn (v) fewwim -
| Tt S
(@ (b () (d)
1) (@v) @) @@ @
() - @) @ @) @
@ @ @ O
@ O @ @ @
Match the following to express general resemblance between bones and girdle fore limbs and hind
limbs.
List no. -1 List no. - 27
' (8) - Shoulder joint () Tibiofibula
(b) Humerus () Knee
(c) Elbow (iii) Femur
(d) Radio-ulna (iv) Hip joint
Answer options :
(@ () () (d)
1) Gv) (@) @ @
@ @) @ @ o L
@) @ Gv) O G -t
@ O @ @ @
Heed] BIHTITS! SR / SPACE FOR ROUGH WORK P.T.O.
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65. A Tl ST e Jaeiaridiel dieeied S SeHfTeHol HIARTET HIv TR STaE ?

(a) (b) T

(c) Tucw sifw Hafden (d) eI TEgEEe
T S

(1) ™ (o) (2) T (a) S (d)
(3) W (b) (4) o

Which chemical compound is used to neutralize the acidity of soil increased due to excessive use of
Chemical Fertilizers ?

(a) Potash (b) Lime water i
(c) Milk of magnesia (d) Ammonium hydroxide |
Answer options :

(1) Only (o (2) Only (a) and (d)

(3) Only (b) (4) All the above

66. WEERIE R/ /= W/ Sre @i SR 3w SEEe S e
EERICIGIn W
(A) CustftAu (B) CoamTAg (C) AuafTAg (D) Na 37 Hg
i ST
(1) <= (A) Sfer (B) ) wx (©)
(3) W (D) (4) == (C) =nfoT (D)

Which of the following pair/ pairs of metal/ metals can be extracted from their ores by using cyanide
complex solutions ? :
(A) Cuand Au (B) Coand Ag (C) Auand Ag (D) Naand Hg

Answer options :

(1) Both (A) and (B) (2) Only (C)
(3) Only (D) (4) Both (C) and (D)
67. T U@ T SREmYe STl HISTUaTd! STadra.
(1) S qe 2) SEEH I
(3) =T qeH 4) fasfen gea
is used to estimate the presence of unsaturation in oils and fats.
(1) Saponification value (2) Iodine value
(3) Acid value (4) Viscosity value

Heeg] HIETETS! WM / SPACE FOR ROUGH WORK
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68. Teiel TR SATfHaT o Yo Hisd o Siiean 2
2KCIO5 | —— 2KCl+30;, T
(@) SoARE Stffm (b) Toreera sAfufswan
(c) Tueea afufsean (d) R e Afufsea
Tt I
M wH( (2) = (b) (3) T (@) AM() () FH ()
’ Identify the typé of following chemical reaction.
‘ 2KCl03,, —— 2KCliy+30;, T
! (a) Exothermic reaction (b) Displacement reaction
() Decomposition reaction (d) Photochemical reaction
Answer options : '
(1) Only (o) (2)  Only (b) (3) Only (a) and (d) (4) Only (a)
59. @redlel faum feaemm =,
Al St R @
(a) eIfufrarRRe=n Hedi=a JHma sEerl. AT\
(b) SRR Hed arahh =, 7. e
(c) TN e i, e, ((\‘i«f R 8
(d) TN ATefE w5, FH S, N B
e For Faer /AT S T 2
(1) % (b) (2) = (d)
(3) W () S (O (@) R (b) M (d)

Consider the following statements :
Rate of a chemical reaction is <
proportional to the concentration of reactants.

(a)

(b) decreases on increasing the concentration of reactants.
(c) increases on increasing the temperature.

(d) decreases on increasing the temperature.

Which of the statement given above is/are correct ?

(1) Only (b) (2) Only (d)

(3) Only (a) and (c) (4) Only (b) and (d)

HIHRITS! ST / SPACE FOR ROUGH WORK
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70. WU FHIVT GHEHI S BESH 3T TUMAw ?

(a) WRRA (b) Tgefem (c) fedtem (d) SIS HEE AR |
i S ‘
(1) = () (2) ™ (b) (3) K (d) (4) T (a) S (c) J
From the following which isotope is called as heavy hydrogen ?

(a) Protium (b) Deuterium () Tritium (d) None of the above
Answer options :

(1) Only () (2)  Only (b) (3) Only (d) (4) Only (a) and (c)

71.  RET fafas T SR ewia et e R .
(A) WRAE ToHEET=I o™ 339 TR STHfed Sl Mo SHiet TS STErT=t T $0am
3T
(B) ‘Udy wfeen M sfufEd 1990 T9R U Al SRS TTIAT LA e
(C) ‘U sreudEAis AN Al 1992 TR ‘UL AcuH@Ais TR ST FI0I1 e,
(D) 27 fedar 1993 TSt ‘T AFSIYHR ERT T FOAEHAE STEARY FIEUIR ST,
ERUGREINC 1 LG AR o B o 1 PG 2 e 1 3 | A e
1) @em@© (@ @E@MD (@) (@& AMD) (@ (B Q)
Consider the following provision/s with respect to various ‘National Commissions” in India.

(A) ‘National Commission for Scheduled Castes and Scheduled Tribes” was established under
Article 339 of the Constitution of India.

(B) The ‘National Commission for Women’ was established under the ‘National Commission for
Women Act’ 1990.

(C) The ‘National Commission for Minorities” was established under the ‘National Commission
for Minorities Act’ 1992.

(D) On 27" December 1993 an ordinance was passed to establish the ‘National Human Rights
Commission’.

Which of the above provision/s is/are correct ?
(1) (A)and Q) (2) (B) and (D) (@) (A) and (D) (4) (B) and ()

72. IVl SAGEKI! SHrErEEan feeeiien U TSl & e e ?
(1) 63 o SRAGERIT A (2) 69 o HAGERN FE
(3) 91 o HEAGEI HEQ (4) 93 S HEAGES HE
Delhi was called National Capital Territory by which Constitution Amendment Act ?

(1) 63" Constitutional Amendment Act (2) 69t Constitutional Amendment Act
(3) 915t Constitutional Amendment Act (4) 934 Constitutional Amendment Act

gl HHTEISI W / SPACE FOR ROUGH WORK
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33 - : ‘B -.
T AR SeftereR i faum fa 2 '
(A) w@mmmm
(B) wﬁaﬁwwsswﬁwmmw
(@) Wmmw4q@#mﬁmﬁmaﬁ

(1) e (A) 307 (C) T '-(2) e (A) SReX
(3) e (A) 37T (B) RIS (4) =@ | SR TRA

Which of the following statement/s is/are correct regarding the citizenship of India ? -
(A) India has single citizenship system. L

(B) Citizenship Act was passed in 1955.

(C) Part 4 of the Indian Constitution provides citizenship.

Answer options : '

(1) Only (A) & (C) Correct (2) Only (A) Correct

(3) Only (A) & (B) Correct i'(4) All of the above are correct
74. NRATET ST et @refrerdent aﬁwaﬁzw&ﬁ ST ST AR 2 NG
(1)  RaTS e Snfon wereran wRe /f/‘ e
@ o T & 5
e -
(4) HRA GaguH .
The Contingency Fund of India has been placed at the disposal of which authonty among the - o
following ? . gEee
(1) Comptroller and Auditor Gen;é'r'él;_of India
(2) President of India *
(3) Parliament of India .
(4) Prime Minister of India 3
Peed] BIAITS! WM / SPACE FOR ROUGH WORK RO iF - S 5
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‘FTETE YRl WeoaEed @reid faum fammm =
(A) WHEIE G B YA SIREHR ST, ¥ A= Agarared 13 e SeAdiee Jerel.

(B) W favs Hel == SgHAM TeAMeN Jayd §a fagiart (Basic Structure Doctrine)
woee e,

Q) I EHEH MeAENY’ YHIudrel i seeren e,
(D) WETE ol 8 IReE Wehiga Saetvl e Fhla.

it s faum famees sm/d?
(1) (A), (B) Q) (2) (B), (O = (D)
(3) w9 (B) 4) (A), (B), (O o (D)

Consider the following statements regarding ‘Kesavanand Bharati’ Case :

(A) This case was heard by the Constitution Bench of 13 judges headed by Chief Justice of India
A.N. Ray.

(B) In Seven - Six majority, the bench outlined the basic structure doctrine.
(C) This case changed the decision of Golaknath case.

(D) This case seems to be the instance of judicial activism.

Which of the statements given above is/are correct ?

(1) (A), (B) and (C) (2) (B), (C) and (D)

(3) (B)Only (4) (A), (B), (C) and (D)

76.

YRATIS SSAGEE Hauid @reid [auH/ faumi=t Soar au shfon a9y vaie e :
(A) 10 A1 TAIGEAITIR 6W § TR gel ¥ Yo HRAH SSvard 3T,

(B) 11 1 TeAGERIFER 314, THU F Tl & Ya¥l WA SHSvard 3.

(C) 15 o1 SRAGEITER SHeunfad yewiaed fasireered T Hvam e,

(D) 22 AT SRAGERITIR e a1 ToTet il Fivam STt

gt S
(1) (A) for (C) s (2) (B) 3o (D) SR
(3) (B) M1 (C) s 4) (A) =7fo7 (D) SRR

Consider the following statement/s regarding constitutional amendment/s in India and Choose
the correct option/s.

(A) Dadra and Nagar Haveli territories were included in India as per the 10" Amendment.

(B) The territories of Diu, Daman and Goa were included in India as per the 11" Amendment.
(C) Legislature was established in Union Territories as per the 15t Amendment.

(D) The state of Meghalaya was created as per the 22"d Amendment.

Answer options :

(1) (A) and (C) correct (2) (B) and (D) correct

(3) (B) and (C) correct (4) (A) and (D) correct

el BTSSR / SPACE FOR ROUGH WORK
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77. Wmmﬁaﬁwmmwﬁﬁmmmqﬁwmew@

| (1) <hcH 148 (2) <heiH 343 (3) _W‘ﬂa_c'l'q 266 (4) <he™ 248

1 Which Article in the Constitution of India prov1des for the Post of Comptroller and Auditor General
of India (CAG) ? 3

} (1) Article 148 (2) Article 343 (3) Article 266 (4) Article 248

P

!78. IR TSl i-RueT T Tfid e o :

(A) T TSTIRT=AT Aedid GHie SRR SeHTe . ZA

(B) T&IM HIvRl fafire emfern swrsham EHTI'UE %um% e 3. \{/}_ N
&\ A5
(C) T4 Wl e T HHH. N

(D) Hel STl FST1 S0 IS FI0A =T 3T,
(E) SIVITEl STUaTRIie, ﬁmwmﬁmﬁ}w (W)%@mwwﬁa

(1) (A), (B) 3ufr (C) (2) (B), (C) ¥mfur (D)
3) (A), (C), (D) sfur (E) (4) (B) smfoT (D)

The Indian Constitution establishes a secular state, meaning :

(A) The state makes discrimination on the basis of religion in matters of employment.
(B) The state avoids preferential treatment for any: particﬁlar religion.

(C) The state treats all religions equally. *

(D) Freedom of faith and worship is allowed toAaﬁ the people.

(E) Educational institutions, without exceptlon_i are free to impart religious instructions.

Answer options :
(1) (4) (B) and (O) (2)  (B), () and (D)
3)  (A) (©) (D) and (E) (4) (B)and (D)

HTHTHTS! IFT / SPACE FOR ROUGH WORK P.T.O.
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THEA IV et Y] M Fasue SHeatdHe! Tg HLam ?

(1) am 124 ¥ 128 (2) e 324 F 329

(3) e 256 d 259 (4) HEH 274 d 279 J
Which Articles in the Constitution provide for the electoral system in our country ?

(1) Articles 124 to 128 (2) Articles 324 to 329 |
(3) Articles 256 to 259 (4) Articles 274 to 279

80.

‘gfgen Apag=n’ devid Erea faum foem =0

(A) 25 SRR 1951 ¥ 21 FART 1952 1 FIAEE e TR Wfeed W fEsuE®
17 ufiret 1952 Tsit Ufecaial haT= Ta1 HIvam el

(B) Ufewn weRae dfect sfieed 13 | 1952 TS G& el

(C) dfeea Akas Tden FHiemah gof sher 37for < 1 Tfier 1957 Tsit forafia seft.
(D) . S, AR 7 dfeed AemET 39 HUId! .

Tt HIv fagH/ SRR 27g/d ?

(1) @ (A) @2 @e@ () (B), (O (D) (4) %92 (D)
Consider the following statements about First Lok Sabha :

(A) The first Lok Sabha was constituted on 17 April 1952 after India’s First General Elections
were held from 25 October 1951 to 21 February 1952.

(B) The first session of first Lok Sabha commenced on 13 May 1952.

(C) The first Lok Sabha lasted its Full tenure and dissolved on 1 April 1957.
(D) Shri. G.V. Mavalankar was the First Deputy Speaker of First Lok Sabha.
Which of the statements given above is/are correct ?

(1) (A) Only (2) (A)and (B) ®) (B, (C) and (D) (4) (D) Only
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1 et T gt e en S et i e
(A) Yagum
(B) <rRgude falie wa
(C) TsHuwde faedt e S Ay
(D) mwﬁwﬁ%ﬁm%fﬂamﬁ

(E) Il FTae

I

M (4), @) s () @) (A) @, © W §)
@) (@A), @), © s (D) @ (A), B) A E)

Who among the following are members of a Committee that recommends the appointment of the
Chief Information Commissioner ?

(A) Prime Minister

(B) Leader of Opposition in the Lok Sabha

(C) Leader of Opposition in the Rajya Sabha

(D) Union Cabinet Minister nommategl?j/ the Prime Minister.

(E) Speaker of the Lok Sabha

Answer options :

(1)  (A), (B) and (D) (2} (A), (B), (C) and (E)
(3) (&) (B), (C) and (D) @ (&), (B)and (B)

. e Tifedt STErTHE U e Hifed! ST M Srefta St fehe mfee ST SHEY ST 2

(1) T et ST (2) TRt S
(3) eI A AgH (4) T3 wifedt SR

The Central Information Commission mcludes one Chief Information Commissioner and Maximum
how many Information Commissioners ?-_

(1) Five Information dommlssmners (2) Ten Information Commissioners

(3) Six Information Comnusswners “(4). Eight Information Commissioners
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83. Y NSt el : 1‘

(1) T 22, 1947 - Ty I¥gE TgrEsTE S

(2) SHaRl 24, 1950 - dfeym S9<Er TAaEn SR,

(3) SHaR 25, 1950 - EARER T T s Wi

(4) SHERT 26, 1950 - yrEAREN U faEn Eiemh

Identify the incorrect pair :

(1) July 22, 1947 - Adoption of National Flag by the Constituent Assembly.

(2) January 24, 1950 - Adoption of National Anthem by the Constituent Assembly.
(3) January 25, 1950 - Adoption of National Calendar by the Government.

(4) January 26, 1950 - Adoption of National Emblem by the Government.

84, TREHISIIG AUfeoNEeHidie SrE Geed1’ ded Welerden! HIvd! fau qra e ?
(A) SR Geeare e weiE =T 1994 7 e,
(B) SIS TSR TSI STelt Tear el Geiiet e <& ATl 3% 1.
(C) T FHIO T ALYl TS SV e Halld = e T 00 1G8 HT k.
(D) SEEHISATE AU SRR U=l ST FHas! =l SOl STEvdeh ST,

gt 39
(1) e (C) @i (D) ' 2) (A), (B), (C) &7foT (D)
(3) e (B), (C) =T (D) (4) ®H (A), (B) & (C)

Which of the following statements are correct regarding the ‘Bommai Case’ in reference to
Emergency in the State ?

(A) The ‘Bommai Case’ Judgement was delivered by the Supreme Court in 1994.

(B) States can appeal to the Supreme Court when President’s rule is introduced in the States.

(C) If President’s Rule is imposed without valid reason/s the Supreme Court can quash
decision of the Central Government.

(D) An order to dissolve a State Assembly requires the approval of the Parliament.
Answer options :

(1) Only (C) and (D) (2) (A) (B), (C) and (D)

3) Only (B), (C) and (D) (4) Only (A), (B) and (C)

85. I HeH I= I JAYA USRI SueasTaviaer fas S #oarE AfsR <d 2
(1) HE™ 226 2) F@W 135  (3) oW 143 (4) e 133

Which article empowers the High Courts to issue directions for the enforcement of Fundamen
Rights ?
(1) Article 226 (2) Article 135 (3) Article 143 (4) Article 133
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86. WETAUH! AT SISl JooaT :
(A) (B)
(a) = fdi et afbd ()

(b) Tt R afae (ii) TR YU QR faawonaedt seiean geer=an Srssh

(© GfE Tar afw R L R i e —

(d) =T % HEIEE afigdt (iv) T SAeforek SR - 2020 TIR gewafies § veataeta=n
SITHA TIR FOFEIS]

Wﬁl‘aﬂi‘

@ () () (d)
M @ @ @ @G
(2) @) @) @) ()
@) @) @) @ @
@) (@v) @ @ )
Match the following pairs :
(A) (B)

(@) Dr. Nitin Karmalkar Committee (i) For implementation of National Education
Policy - 2020 in Maharashtra

(b) Nitin Karir Committee (i) To enquire the incident which happened during the
distribution of Maharashtra Bhushan Award

(c) Sunil Pawar Committee (iii) To study why the rates of onion collapse.

(d) Dr. K. Kasturirangan Commiittee (iv) To make the syllabus for pre-primary to degree
according to National Education Policy - 2020

Answer options : S
@ () () (9
O O @ @) ()
2) @@ @) Gv) @
() @) (v) @) @
@) (v) G) @ ()
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gy, e et g e s,

"@)wwwwwmm
~(b) @ = e HfFES foRmdis #et 2.
() AT Py v A

@ 3 TS TIEs e A,

() T T R T feren 2

T
® @006 @ @@©de 6@ G@E @ @ b @@

: Identr.fy the correct statements regarding M.S. Swaminathan.

= ik -(a) ~ He was resident of Tamil Nadu.

-:‘ (b) He was educated from Oxford University.

: "(‘c)' " He 'WaS.SCiEI;ltiSt- of Agricul'ture-dep'artment.
(d)_ He was Member o.f Rajya Sabha for some ﬁme.
() He was awarded by Ramén Magsaysay award.

Answer options :

0 AMOE @ @O@E ¢ ®OdeE @ @ 0.0
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TR arg faum faemm =,

(a) ToH1 W A= ST TR T € T 9ioft foier=an Seeaar snefia o,
(b) THHU T YA TSI Fel FHHA Geheqiay Sia TR,
(c) o HERWEATH ITHEA 28 H 2023 s FHTUIM T

(d) WWWMWWWWWWW
i I

1) faum (b), (o) 9Fa e

(2) fau (a), (b), () FFa oA

(3) faum (b), (o), (d) 9= emea.

@) (@), (), (), (d) 97 37,

Consider the correct statements given below :

(@) The interior design of Lok Sabha in the new Parliament is based on the theme of National
Animal Lion.

(b) The design of Rajya Sabha is based on the theme of India’s National Flower Lotus.

(c) The new Parliament building was inaugurated on 28th May, 2023.

(d) The historic Ashok Chakra has been installed beside the speaker of Lok Sabha.

Answer options :

(1) Statements (b), (c) are correct.

(2) Statements (a), (b), (c) are correct.

(3) Statements (b), (c), (d) are correct.

4) (a), (b), (c), (d) are correct.

89.

Feftehed sifesmen qem=ai, g@nﬁmwm@ﬁaﬁ maﬁﬁé‘/aﬁmaﬁzﬁm&
SHI0TT ?

(a) el 3= TRreromet =T <. 3

(b) WWWWW@QWW

(c) Terviverim Tefin IsTrrea Gl Suersy e 2o,

(d) AT YT HET SeE Argevl.

i 3w
(1) K (a) S TR, (2) T (b) TSR AR,
3) (a) STfOT (d) SRISR 7. @) (c) 37for (d) S=R 7=

Recently, Odisha Chief Minister has launched Mukhyamantn Sampoorna Pushti Yojana. What
is/are the primary objective/s of the scheme 7

(@) To promote higher education for girls. _'

(b) Improve maternal and child nutrition in the State.

(c) To provide employment opportunities for adolescent girls.

(d) Boosting agricultural production in rural area.

Answer options :

(1) Only (a) is correct. (2) ;Q_nly (b) is correct.

(3) (a) and (d) are correct. (4) (c)and (d) are correct.
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90. THIEeE SIS, A1 AL WICHIth! hIvIET S¥= HHERT Bl 2

(a) e (b) foe () e

(@) siefem (€) ¥ (f)

Tt I

1) @ (b), () (d) (2) (a), (b), () (e)

(3) (a) (b), (o) () 4) (@) (), () () ()
Which of the following countries are included in the Five Eyes Alliance ?
(a) America (b) Britain (c) New Zealand
(d) Australia (e) France (f) Germany
Answer options :

1) (@, ®) (@) (@) 2 (@, (®) () (e

@) (@, (b) () @ @ @, (®) (©) (d) ()

91, UMY FHYA Aez@l (USH LR 2024) :
(a) T 30 TR WKhed! Higell e
(b) e 6 T T TSR SRR i e,
(c) 17 WA YOO ST 110 THA TR SR FT0AM ST,
TatE S ;
(1) = (a), (b) (2) ®H (b), (9)
3) W (a), (<) (4) et wd
Select the correct statements (Padma Awards 2024) :
(a) 30 of the awardees in it are women.
(b) 6 Padma Vibhushan award were declared.
(c) 17 Padma Bhushan and 110 Padma Shri awards were declared.
Answer options :
(1) Only (a), (b) (2) Only (b), (9)
(3) Only (a), (¢ (4) All of these

THeed] PIRITS! WIRT / SPACE FOR ROUGH WORK
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F0 SR TS S B, e w7 ) T 2
(1) o SEE WA el S '
(2) d foRR = ufect TR-wiI g 2. .
(3) = S 1924 He, wﬁyﬁi@mﬁmws@:

(4) aﬁ1952ﬁmﬁummﬁa@ﬁmwﬁ$w§ Niepett 2.

Karpoori Thakur was recently in news. Which of the folIowmg is not true about him ?
(1) He is also known as ‘Jan Nayak’. &
(2) He was First non-congress Chief Minister of B1har

J

(3) He was born in 1924, in a village in Samastipur District.
(4) He won State Assembly election in 1952 from Samastipur Constituency.

9%

TerHs §R it anfert demdedid Yo 9 faum siea,
() @A SH, 2017 AL <AE FEUETH HEAHA SEAT GE el el

(b)

(© mmﬁmﬁwuﬁmﬁoooo%m;@hw@m
(d) 33 e IThgrEA 10 T, wHaen war ; T IHRE ST,
Ww:

(1) (a), (d) 93 e, (@@@@m%a

(3) (a), (b) A4 M. 4) (), (o) (d) a4 .

Identify the correct statements regarding the Chief Minister Solar Agricultural Channel Scheme.
(@) This Scheme was started in June 2017, when Devendra Fadanvis was Chief Minister.

(b) The main purpose of this Scheme is to provide supply of electricity to farmers through the
agricultural feeder.

() The government has decided to pay % 50,000 per acre as rent to the farmers under this

Scheme. £
@
Answer options :
(1) (a), (d) are correct @ () (b), @ 5;& correct
(3) (a), (b) are correct (4) (a), (c), (d 'a—r_é correct
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94, HIURT 3feIes HE RaTen WK YA STfee-Ter 1 o wel STvAr Hed Hd 2

(1) 2 IWT (3) S (4) UhrgErg

Which space agency helps India in tracking the Solar Mission Aditya - L1 ?

(1) NASA (2)" ESA (3) JAXA (4) ROCOSMOS

95. TRV YR AN TEUTEE] Tedeiedn Aifgdt 201 91 A=A 9rd e &

A (W) B (39T)
() ST 7T @ Zh
(b) SR T () RS
(c) SifoEM Seftere (i) GIA
(d) SATIEH HEd (iv) STHIOTEIH
it e

@ () (9 (d)
N @ @ @) (@)
(2) @ @) @) @
@ @ @ @) (@)
@) @v) @) @) @
Match the country and the Operations undertaken to protect Indian Nationals Abroad.

A (Operations) B (Country)
(a) Operation Ajay (i) Ukraine
(b) Operation Ganga (i) Israel
(c) Operation Devishakti (i) Sudan
(d) Operation Kaveri (iv) Afghanistan

Answer options :
(@ () (9 (d)
O O @ @) @)
2 @) @) @) @
3) @ @ v (o)
@) (v) @@ @) @
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Tfge AR&T fagEes - 2023, Hewld @l o faum foeme =0

(a) TR sigT SAfufm § werss fadas - 2023 (T AIPETHE Feges fadees) =wom
HHed I HI0FT ST,

(b) HAWHH W AT AR 10 LS 2023 ﬂs{jﬁnﬁm HARETY 87 TRasd | Fel.

(c) N HIRIAR ST o T FAeFa=at 30% S Hfgeri=T S0 JR 37,

@ mmwﬁ%qﬁéﬁﬁmm

e g e s
(1) (a) 30fOT (d) SRR = (2) (a) STOT (b) SR TR
(3) (a), (b), (c) SRISR 7. 4) (a), (b), (c) 3T (d) SRR 2.

r"i"
I

i

Women Reservation Bill - 2023, consider théfgﬁowmg statements :

(@) Narishakti Vandan Adhiniyam officially the Constitutional (One hundred and twenty eight
amendment) bill - 2023 is a bill introducéd in the Parliament of India.

(b) The Women reservation bill was introduced by Prime Minister Narendra Modi in Lok Sabha
on 10t Sept. 2023.

il
i

(c)  This legislation seeks to allocate 30 percent of the seats in Lok Sabha and State legislative .
assemblies for women.

(d) The bill was the first that was considered in the new Parliament building.

Select the correct statements from the above_:.

(1) (a) and (d) are correct. (2) _@ and (b) are correct.

(3) (a), (b), (c) are correct. (4) ‘{‘:’E’ (b), (c) and (d) are correct.
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97. oTfymE wier Tl - 2023 fowh =y faum siesan.

(@) o Tyl S SIS A foehuit SR S

(b) ST WG St SReT 1 THaTS MRAH S EAwHRehr Rt Seee.

(c) o waifd 28 anfuawhiee TRAM =S T Jehiee.

(d) = e T 107 3 e feeh.

it 3

1) @, (®)(© @ @ ®) @ @) (®) (), (d) 4) (@) (), @

Identify the correct statements regarding Asian Games - 2023.

(a) This competition was held in Hangzhou, China.

(b) Shooter Lovelina Borgohain played a role of flag bearer for India at the time of inauguration.
(c) India got 4t position with 28 gold medals.

(d) India got total 107 medals in this competition.

Answer options :

1) @, () () 2 (@ @) 3 (), (©) (@) @ @ (9 (@)

98. SR WIfTe iF Sfear=a ‘ STaw T Fghiel qRug 2023 ' ¥ ITHRA HIl IEUT Fel 2
(1) T feeed 2 F= (3) e (4) TR
Bar Council of India’s ‘International Lawyers Conference 2023" was inaugurated in which City ?

(1) New Delhi (2) Mumbai (3) Kolkata (4) Bengaluru

99. wTfes e T 2023 W RN feRaan FHis% ATl 2
(1) 100 @) = 111 (3) 101 4 123
Which is the India’s rank in global hunger Index 2023 ?

1) 100 2y 111 3) 101 (4) 123
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AT FHI AaT

(a) e HiewEl Fi S Siddr TEHR, 2023 e FHIUAE .
(b) e drewTEl &0 o Afea™ g9 aie End ST,
(c) fife wrewnet a1 Rrim Sandt ot Toma Shove fethred oifw JF e Jexan, 2004 WS Fewwit

LS . LN
Ui S
(1) W (a), (b) )

(3) HH (a), () 4)

Select the correct statements :
(@) The Nobel Peace Prize, 2023 was awarded to Narges Mohammadi.
(b) Narges Mohammadi is a champion of equality and women's rights.

(c)  In 2004, Narges Mohammadi joined the Defenders of Human Right Center founded by Shirin
Ebadi.

Answer options :
(1)  Only (a), (b) )
(3) Only (a), () (4)
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e — (T8 1 967 S.... )

(8) FEgferRaes fafea Foe fafire S #=1 &M (6 9%) FE.  FAYRaheaidie Sudfhor a1 g
FHIEER H5 HH HoIE T FO FOAE UM FO AR, I TS TES 9 TTHR SHGARER A SR
Foe ' qieTEe S TRy Siie FoAEEay SfEE-82 " A TWILIJER HRATE HOA TS I
A1t SR G T T FHEEE A0/ 6 T T TSR Wi SerAl aE U 2.

(9) Tt TS STENT fafed S99 e UUeaH SUSAN 8 WYAqfkehl Td:ae U Haenel A

SO WA ST, AT UHET SheMETat SuaTge! SHEEaN U SRl WiT-1 HHAhRTRS |
o Ui T STayEeh e

T 9
W. . 201. Hd=1 T T FOAEES! Hivl Jord: TIA Fed ?
(1) T gFHT T (2) EvaEs faEEER
(3) TS TR UF (4) TSRS TRE

o YT A SR ¢ (3) T T 1 o R, e 1 T S (3)"! BRe. e Eioan
T . 201 FARE SR-FAF (B)"! ¥ Fe T SrEifwd FE @0 AR .

%201 (D @ @ @
ST THA TR TRRAde Yot FEArE QR S-S 8 grerel Tdeie Jueaoed] ST
T F- RN e ade qort) S wed SrEal.  gehiiar e el I s
O, UFE o IR U 91U .
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